
FIG. 3

ANALYSIS

! Ferrous Oxide. Ferric Oxide. Insoluble. Sulphur. Phosphorus. Iron.

J 6 17 34 42 55 06 0 039 0 85 28 88
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447 23 19 21 18 65 93 OOH 0 26 190 43 62 37 21 42 62 0 008 0 22 224 54 58 8 64 85 26 8 18 77 40 22 60 2 27
124 | 6 44 28 40 61 43 0 059 0 36 47 39 90 40-26 39 68 ooor, 0 183 76 GO 49 21 42 64 98 2 1 61 52 68 47 82 2 69

416 1 21 59 31 85 49 60 0 051 0 37 229 55 04 36 12 44 78 0 006 0 178 184 44 24 26 23 58 35 8 0 72 63 15 36-85 1 81
940 1 46 78 31'49 61 02 0 024 0 35 568 GO 42 34'83 47 69 0 001 0 197 367 39 01 28 36 58 60 5 0 54 67 04 32 96 1 65

1,927 100 00
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38 97 54 71 0 038 0 34 1,039 5? 92 iV87 45 64 0 («3 0 196 870 45 15 20 73 64 61 18 0 93 67 66 32 St 1 83

RECAPITULATION FOR TOT AIX

Pound» of iron in crude, 568 26. 
m concentrate.

tailing*...........
372 74
180 U Per cent saved in concentrate................................................... 60 76

h lost in tailing»............................................................. 32 32
h lost in dust............................. ........................... O'91

Totals.................................................................... 100 00
Unit* of crude required per unit of concentrate, l to.

WET CONCENTRATION.
POUNDS TO WET TEST 1484
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, 20 494 28 88 66 06 0 039 0 35
2 40 492 28 88 55 06 0 039 0 35
3 60 498 28 88 56 06 0 089 0 36
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160 47 12 30 82 0.002 0 144
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RECAPITULATION FOR SAMPLE No. 33c.
Pound» of iron in crude, 143 82.

» concentrate......................................................... 76,18
h tailing»............................................................. 59 32
» slime................................................................... B'32

Per cent saved in concentrate.
•• lost in tailing»...........
» lost in slime.

58 27 
41 24 
« 49

.......1*3 82 Totals.
Units of crude required per unit of concentrate, 411.


